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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

dFVvi
dFVo
-

——
+

60.0

57.5

55.0

52.5

50.0

47.5

45.0

42.5

40.0

day

—o— DUC

60.0

57.5

55.0

52.5

50.0

47.5

45.0

42.5

40.0

day

—&— FRV

60.0

57.5

55.0

52.5

50.0

47.5

45.0

42.5

40.0

day

—@— FRC

0. 04 -
0.02 -
0. 00 -
0. 02 -
~0. 04 -

278 -
276
274 -
272 -
270 -
268 -

179
178 -
177 4
176
175
174
173

0. 6456
0. 6454
0. 6452
0. 6450
0. 6448
0. 6446

60.0

57.5

55.0

52.5

50.0

47.5

45.0

42.5

40.0

day



400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

80

70

60

50

40

2500

2000

1500

1000

500

2.5

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

0.4

Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
AT o e — ]
WJ\I‘% | \V' I e Alalh =
E /MWVV\V\A\/\’\ T e
| - N
AN . - -
VoA DWW ALY YT
/ [V U
J i
| A,
~_ N 'U /MY \V/\{ Y
AT LA
W i
v s
- WG ==
/_\/ij\f“%%
i b
A i Ay
AT | —
i /\,/ \_\ —— LAl
% h
P N
P N
d s N\,
N l E .V[\ optEtRate
ML oY VWA
| TN A
I
| ' i
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-6_0
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P3-6

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

06:45 278 150. 0 E BRi&e06:45 Bah (RAEREE)
07:30 278 150.0 5| {Ri%@07:30 B3 (FRAERSE)
08:55 278 150.0 = {RRiB008:55 B (FRFAEEE)
09:50 278 150.0 5 {Ri%@09:50 B3 (KRFAERSE)
10:35 278 150.0 (& =| 1BiB@10:35 Bzh (REFRESE)
11:20 278 150.0 =l {Rige11:20 B3 (RAERSE)
12:00 278 150.0 Sl {Rige12:00 B3 (RAERSE)
12:40 278 150. 0 E| {Rig012:40 B3h (GRE{ERSE)
13:20 278 150.0 F BRige13:20 Bz CGRAERE)
14:00 278 150.0 = Ri%e14:00 B (REMREEE)
15:00 278 150.0 F BRi%e15:00 Bz (GRAERESE)
16:15 278 150.0 F BRige16:15 Bz CGRAEREE)
24t 3336.0 (12)%) 1800. 0 3ZHKEC: 2080.0, PH: 5.9

#HEKRECE (2370.0 vs 3648.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=58 (2025-05-26)
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-6

BfiE) | GEBEETIC (FD) | EHM=E (EAH/K) | XK R

06:55 278 150.0 F  BRi1%e06:55 BEh (RAERSE)
07:35 278 150.0 E 1BRi&e07:35 Bzl (GRAEREE)
08:15 278 150. 0 E  BRi%e08:15 Bzl (RAERRE)
09:15 278 150.0 F BRi1%e09:15 Ba1 (GRAERESE)
10:05 278 150.0 =] {Ri%@10:05 Bz (REAHRESE)
10:50 278 150. 0 F BRi%e10:50 Bzl (GRAERRE)
11:30 278 150.0 & 1Ri%e11:30 B (RAMERER)
12:10 278 150. 0 E BRige12:10 Bz CGRAEESE)
12:45 278 150. 0 E BRige12:45 Bz CGRAERESE)
13:20 278 150.0 5| {Ri%e13:20 B3 (RAERSE)
13:55 278 150.0 5| {Rike13:55 B (REAERS)
14:30 278 150. 0 E BRige14:30 Bz (GRAERESE)
15:05 278 150. 0 El 1BRi&e15:05 Bz CGRAERESE)
15:50 278 150.0 =l RRiB@15:50 B (RFAEEE)
16:45 278 150.0 S| {Ri%016:45 B (RAERSE)
21| 4170.0 (15)%) 2250. 0 3 IWHKEC: 2080.0, PH: 5.9

large discrepency for begining water status (321:153.0), set to 321 ml.
#[ERECE (2323.0 vs 3280.0) RS



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=57 (2025-05-25)
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P3-6

BfiE) | GEBIETIC (F) | EHME (BEAH/K) | XK R

07:00 273 150.0 = {RRi8007:00 Bz (RFAKEE)
07:40 273 150. 0 5| 1Ri%e07:40 B (REMERE)
08:50 273 150.0 E|  {Ri1&@08:50 Bah (KRF{ERLEE)
09:40 273 150.0 | 1Ri%009:40 BE1 (RFEREE)
10:25 273 150. 0 E BRige10:25 Bz (GRAERERE)
11:10 273 150.0 S Ri%e11:10 Bz (RAERSE)
11:50 273 150.0 =l RRiB011:50 Bz (REAEEE)
12:30 273 150.0 | 1Rike12:30 B (KAL)
13:05 273 150.0 5| {Ri%e13:05 B3 (RAERSE)
13:45 273 150.0 = RRiB013:45 B (RFAKEESE)
14:25 273 150. 0 E BRige14:25 Bz CGRAERESE)
15:15 273 150. 0 El BRi&e15:15 Bz GRAEREE)
16:15 273 150.0 = Rige16:15 Bah (RAEES)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.8

FHERECE (2223.0 vs 3553.0) RS



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=56 (2025-05-24)

R S il et N alal
VI, V%GFQRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2288

—_
©
o
o

©

o

©
T

N

o

o

o

100 4 1700 7 666

50 - - 1000

Warning: lcol [FVI',| "FVO’'] missing

200 4
150 - - 28

100 - L o ='

50 - 24

1.0 22
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